

q -ANALOGUES OF p -ADIC GAMMA FUNCTIONS AND p -ADIC EULER CONSTANTS

YONG SUP KIM

ABSTRACT. In this paper we will derive some new properties of q -extensions of p -adic gamma functions and p -adic Euler constants.

1. Introduction

In [1], Jakson defined a q -analogue of the gamma function by

$$\Gamma_q(x) = \frac{(q : q)_\infty (1 - q)^{1-x}}{(q^x : q)_\infty}$$

when $0 < q < 1$, $x \in \mathbb{C}$. Here the product $(a : q)_\infty$ is defined by

$$(a : q)_\infty = \prod_{n=0}^{\infty} (1 - aq^n).$$

Koblitz [5] showed some properties of q -analogues $\Gamma_{p,q}$, $\gamma_{p,q}$ which extend Morita's p -adic gamma functions Γ_p [3],[4],[6],[7], and Diamond's p -adic Euler constants γ_p [2], respectively. Recall that Γ_p is defined by

$$\Gamma_p(x) = \lim_{n \rightarrow x} (-1)^n \prod_{\substack{j < n \\ (p,j)=1}} j$$

for $x \in \mathbb{Z}_p$, and $\gamma_p \in \mathbb{Q}_p$ is defined to be

$$\gamma_p = \frac{-\Gamma'_p(1)}{\Gamma_p(1)}.$$

Received July 3, 1997. Revised June 8, 1998.

1991 Mathematics Subject Classification: 11F85, 33D05.

Key words and phrases: p -adic gamma function, p -adic Euler constant.

The purpose of this paper is to derive some new functional equation of $\Gamma_{p,q}$ and a new expression of $\gamma_{p,q}$. $\gamma_{p,q}$ is established by using Calitz's method in [7],[9] and the q -factorial function in [1]. More explicitly, our results are as follows:

$$\Gamma_{p,q}(x)\Gamma_{p,q}(1-x) = (-1)^{\ell(x)} \lim_{n \rightarrow x} \prod_{\substack{j < n \\ (p,j)=1}} q^j,$$

$$\gamma_{p,q} = \lim_{n \rightarrow \infty} p^{-n} \left\{ 1 - (-1)^p \frac{[p^n - 1; q]!}{[p; q]^{p^n - 1} [p^{n-1} - 1; q^p]!} \right\}.$$

NOTATIONS. Let \mathbb{Z}_p , \mathbb{Q}_p , \mathbb{C}_p be the ring of p -adic integers, the field of p -adic numbers, and the p -adic completion of the algebraic closure of \mathbb{Q}_p . If $q \in \mathbb{C}$, one usually assumes $|q| < 1$; if $q \in \mathbb{C}_p$, one usually assumes $|q - 1|_p < p^{-1/(p-1)}$, so that $q^x = \exp_p(x \log_p q)$ for $|x|_p \leq 1$, where $|p|_p = 1/p$. Throughout this paper we use the notation

$$[x] = [x; q] = \frac{1 - q^x}{1 - q}.$$

2. q -extensions of p -adic gamma functions

Let $t \in \mathbb{C}_p$, $|t|_p < 1$, $t \neq 0$. Set $q = 1 + t$. Then, for any positive integer n , $\Gamma_{p,q}(n)$ is defined by

$$\Gamma_{p,q}(n) = (-1)^n \prod_{\substack{j < n \\ (p,j)=1}} [j].$$

Then $\Gamma_{p,q}$ extends to a continuous function from the p -adic integers \mathbb{Z}_p to the p -adic units \mathbb{Z}_p^* , and $\lim_{q \rightarrow 1} \Gamma_{p,q} = \Gamma_p$.

LEMMA 1 ([3],[5],[8]). *Let p be any prime. Then $\Gamma_{p,q}$ has the following properties:*

(1) For all $x \in \mathbb{Z}_p$, $\Gamma_{p,q}(x+1) = \epsilon_{p,q}(x)\Gamma_{p,q}(x)$ where

$$\epsilon_{p,q}(x) = \begin{cases} -[x] & \text{if } |x|_p = 1, \\ -1 & \text{if } |x|_p < 1. \end{cases}$$

(2) (i) If either $p \neq 2$ or $p = 2$ and $|x - y|_p \neq \frac{1}{4}$, then, for all $x, y \in \mathbb{Z}_p$,

$$|\Gamma_{p,q}(x) - \Gamma_{p,q}(y)|_p \leq |x - y|_p.$$

(ii) If $p = 2$ and $|x - y|_p = \frac{1}{4}$, then, for all $x, y \in \mathbb{Z}_p$,

$$|\Gamma_{p,q}(x) - \Gamma_{p,q}(y)|_p \leq 2|x - y|_p.$$

(3) $\Gamma_{p,q}(1) = -1$ and $\Gamma_{p,q}(2) = 1$.

(4) For all $x \in \mathbb{Z}_p$, we have $|\Gamma_{p,q}(x)|_p = 1$.

In [1], the q -factorial $[n; q]!$ is defined by

$$[n; q]! = [n; q][n - 1; q] \cdots [2; q][1; q].$$

PROPOSITION 2. Let $n \in \mathbb{N}$. Then

$$\Gamma_{p,q}(n + 1) = (-1)^{n+1} \frac{[n; q]!}{[p; q]^{\lfloor \frac{n}{p} \rfloor_g} \left[\left[\frac{n}{p} \right]_g; q^p \right]!},$$

where $\lfloor \cdot \rfloor_g$ is the greatest integer function. In particular,

$$\Gamma_{p,q}(p^n) = (-1)^p \frac{[p^n - 1; q]!}{[p; q]^{p^{n-1}-1} [p^{n-1} - 1; q^p]!}.$$

PROOF. From the definition of $\Gamma_{p,q}$, we have

$$\Gamma_{p,q}(n + 1) = \frac{(-1)^{n+1} [1; q][2; q] \cdots [n; q]}{[p; q][2p; q] \cdots \left[\left[\frac{n}{p} \right]_g p; q \right]}.$$

Therefore we get

$$\begin{aligned} \Gamma_{p,q}(n + 1) &= \frac{(-1)^{n+1} [n; q]!}{[p; q]^{\lfloor \frac{n}{p} \rfloor_g} [1; q^p][2; q^p] \cdots \left[\left[\frac{n}{p} \right]_g; q^p \right]!} \\ &= \frac{(-1)^{n+1} [n; q]!}{[p; q]^{\lfloor \frac{n}{p} \rfloor_g} \left[\left[\frac{n}{p} \right]_g; q^p \right]!}. \end{aligned}$$

□

PROPOSITION 3. For any p , $\Gamma_{p,q}(-n)$ ($n \in \mathbb{N}$) is given by

$$\Gamma_{p,q}(-n) = (-1)^{n+1-\lfloor \frac{n}{p} \rfloor_g} \prod_{\substack{j < n+1 \\ (p,j)=1}} q^j (\Gamma_{p,q}(n+1))^{-1}.$$

In particular, if $p = 2$ then

$$\Gamma_{p,q}(-n) = (-1)^{n+1-\lfloor \frac{n}{p} \rfloor_g} q^{(n-\lfloor \frac{n}{p} \rfloor_g)^2} (\Gamma_{p,q}(n+1))^{-1}.$$

PROOF. By Lemma 1, $1 = \Gamma_{p,q}(0) = \Gamma_{p,q}((-1)+1) = \epsilon_{p,q}(-1)\Gamma_{p,q}(-1) = \epsilon_{p,q}(-1)\epsilon_{p,q}(-2)\Gamma_{p,q}(-2)$. Continuing this process, we get

$$1 = \left(\prod_{j=1}^n \epsilon_{p,q}(-j) \right) \Gamma_{p,q}(-n).$$

Thus we have

$$\Gamma_{p,q}(-n)^{-1} = \prod_{j=1}^n \epsilon_{p,q}(-j).$$

By definition of $\epsilon_{p,q}$, we have

$$\begin{aligned} \Gamma_{p,q}(-n)^{-1} &= (-1)^{\lfloor \frac{n}{p} \rfloor_g} \prod_{\substack{j < n+1 \\ (p,j)=1}} q^{-j} [j] \\ &= (-1)^{\lfloor \frac{n}{p} \rfloor_g} \prod_{\substack{j < n+1 \\ (p,j)=1}} q^{-j} (-1)^{-n-1} (-1)^{n+1} \prod_{\substack{j < n+1 \\ (p,j)=1}} [j] \\ &= (-1)^{-n-1+\lfloor \frac{n}{p} \rfloor_g} \prod_{\substack{j < n+1 \\ (p,j)=1}} q^{-j} \Gamma_{p,q}(n+1) \quad . \end{aligned}$$

□

From Proposition 3, we obtain

$$\Gamma_{p,q}(n+1)\Gamma_{p,q}(-n) = (-1)^{n+1-\lfloor \frac{n}{p} \rfloor_g} \prod_{\substack{j < n+1 \\ (p,j)=1}} q^j.$$

Replacing n by $n - 1$, we have

$$\Gamma_{p,q}(n)\Gamma_{p,q}(1 - n) = (-1)^{n - [\frac{n-1}{p}]_g} \prod_{\substack{j < n \\ (p,j)=1}} q^j$$

Now we define $\ell : \mathbb{Z}_p \rightarrow \{1, 2, \dots, p\}$ by assigning to $x \in \mathbb{Z}_p$ its residue modulo $p\mathbb{Z}_p$. Let $n = a_0 + a_1p + \dots$ be a positive integer in base p . If $a_0 \neq 0$, then $[\frac{n-1}{p}]_g = a_1 + a_2p + \dots$. Therefore $n - p[\frac{n-1}{p}]_g = a_0 = \ell(n)$. If $a_0 = 0$, then $n - 1 = (p - 1) + b_1p + b_2p^2 + \dots$. Hence

$$[\frac{n-1}{p}]_g = b_1 + b_2p + \dots$$

So we have

$$n - p[\frac{n-1}{p}]_g = 1 + (p - 1) = p = \ell(n).$$

Therefore we get the following.

THEOREM 4. *If $p \neq 2$, then for all $x \in \mathbb{Z}_p$*

$$\Gamma_{p,q}(x)\Gamma_{p,q}(1 - x) = (-1)^{\ell(x)} \lim_{n \rightarrow x} \prod_{\substack{j < n \\ (p,j)=1}} q^j.$$

REMARK. If we take $x = \frac{1}{2}$ ($p \neq 2$), then we can easily obtain

$$\ell(\frac{1}{2}) = \ell(\frac{p+1}{2}) = \frac{p+1}{2}.$$

By Theorem 4, we have

$$\Gamma_{p,q}(\frac{1}{2})^2 = (-1)^{\ell(\frac{1}{2})} \lim_{n \rightarrow 1/2} \prod_{\substack{j < n \\ (p,j)=1}} q^j = \begin{cases} \lim_{n \rightarrow 1/2} \prod_{\substack{j < n \\ (p,j)=1}} q^j & \text{if } p \equiv 3 \pmod{4}, \\ - \lim_{n \rightarrow 1/2} \prod_{\substack{j < n \\ (p,j)=1}} q^j & \text{if } p \equiv 1 \pmod{4}. \end{cases}$$

3. q -extensions of p -adic Euler constants

We can easily see that $\Gamma_{p,q}$ is locally analytic function by Lemma 1. Also, from Lemma 1, we have

$$\frac{\Gamma'_{p,q}(x+1)}{\Gamma_{p,q}(x+1)} = \frac{\epsilon'_{p,q}(x)}{\epsilon_{p,q}(x)} + \frac{\Gamma'_{p,q}(x)}{\Gamma_{p,q}(x)}.$$

So we have the following.

PROPOSITION 5. For $m \in \mathbb{N}$, we have

$$\frac{\Gamma'_{p,q}(m)}{\Gamma_{p,q}(m)} = \frac{\Gamma'_{p,q}(1)}{\Gamma_{p,q}(1)} - \frac{\log_p q}{1-q} \sum_{j=1}^{m-1} \frac{q^j}{[j]}.$$

This formula may be considered as a q -extension of p -adic analogue

$$\frac{\Gamma'_p(m)}{\Gamma_p(m)} = \frac{\Gamma'_p(1)}{\Gamma_p(1)} + \sum_{\substack{j < m \\ (p,j)=1}} \frac{1}{j}$$

of the one for the gamma function, which is

$$\frac{\Gamma'(m)}{\Gamma(m)} = \frac{\Gamma'(1)}{\Gamma(1)} + \sum_{j < m} \frac{1}{j}.$$

Now we define q -extension of p -adic Euler constants $\gamma_{p,q}$ to be

$$\gamma_{p,q} = -\frac{\Gamma'_{p,q}(1)}{\Gamma_{p,q}(1)} = \Gamma'_{p,q}(1) = -\Gamma'_{p,q}(0).$$

From Proposition 2, we get

$$\Gamma_{p,q}(p^n) = (-1)^p \frac{[p^n - 1; q]!}{[p; q]^{p^n - 1} [p^{n-1} - 1; q^p]!}.$$

Therefore we obtain

$$\begin{aligned} & \lim_{n \rightarrow \infty} p^{-n} \left\{ 1 - (-1)^p \frac{[p^n - 1; q]!}{[p; q]^{p^n - 1} [p^{n-1} - 1; q^p]!} \right\} \\ &= \lim_{n \rightarrow \infty} p^{-n} (1 - \Gamma_{p,q}(p^n)) \\ &= \lim_{n \rightarrow \infty} \frac{1 - \Gamma_{p,q}(p^n)}{p^n} = -\Gamma'_{p,q}(0) = \gamma_{p,q}. \end{aligned}$$

So we have the following.

THEOREM 6. A q -extension $\gamma_{p,q}$ of p -adic Euler constant γ_p satisfies

$$\gamma_{p,q} = \lim_{n \rightarrow \infty} p^{-n} \left\{ 1 - (-1)^p \frac{[p^n - 1; q]!}{[p; q]^{p^{n-1}-1} [p^{n-1} - 1; q^p]!} \right\}.$$

Finally, from Lemma 1 we see that $|\Gamma'_{p,q}(1)| \leq 1$. So the p -adic absolute value of $\gamma_{p,q}$ is less than or equal to 1.

References

- [1] R. Askey, *The q -gamma and q -beta functions*, *Applicable analysis*, **8** (1978), 125-141.
- [2] J. Diamond, *The p -adic log gamma function and p -adic Euler constants*, *Transaction of the A.M.S.*, **233** (1977), 321-337.
- [3] T. K. kim et al., *A note on analogue of gamma functions*, *Proc. Confer. on 5th Trancendental Number Theory* **5** no. 1 (1997), Gakushin Univ. Tokyo Japan, 111-118.
- [4] Y. S. Kim, H. K. Song, *On p -adic analogue of hypergeometric series*, *Comm. K.M.S.* **12** no. 1 (1997), 11-16.
- [5] N. Koblitz, *q -extension of the p -adic gamma function*, *Transaction of the A.M.S.* **260** no. 2 (1970), 449-457.
- [6] ———, *The hypergeometric function with p -adic parameters*, *Pro. Confer. Number theory*, Queen Univ. (1981), 319-328.
- [7] ———, *On Carlitz's q -Bernoulli numbers*, *J. Number theory* **14** (1982), 332-339.
- [8] Y. Morita, *A p -adic analogue of the Γ -functions*, *J. Fac. Sci. Univ. Tokyo* **22** (1975), 256-266.
- [9] J. Satoh, *q -analogue of Riemann's ζ -function and q -Euler numbers*, *J. Number theory* **31** (1989), 346-362.

Department of Mathematics
 Wonkwang University
 Iksan 570-749, Korea
E-mail: yspkim@wonnms.wonkwang.ac.kr